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(xd;Wtpl;l Nfhzk; rkd; vd;gjhy; 

tpl;lkhFk;. (miutl;l Nfhzk; 900  )

0 0 0ˆ 90 45 45ABE = − =

0ˆ ˆ 180ABC ADC+ =

CE

10

0

0 0

0

ˆ 135
ˆ ˆ ˆ

ˆ135 45
90

ABC

ABC ABE EBC

EBC
EBC

=

= +

= +

=

0ˆ ˆ 180ABC AEC+ =

0

0

0

ˆ 45
ˆ 45
ˆ ˆ 45

/ /

AEC

PAE

PAE AEC
PQ EC

=

=

= =

P



,yq;ifg; guPl;irj; jpizf;fsk;
me;juq;fkhdJ

3032 - fzpjk;  ( Gs;sptoq;Fk; jpl;lk;  )- f.ngh.j(rhjuzju)g; guPl;ir -2019-,Wjpj; jpUj;jq;fs; cs;slf;fg;glTs;sd.

tpdh ,yf;fk; Gs;sp toq;Fk; gbKiwfs; Gs;spfs; NtW Fwpg;Gf;fs;

11

2
1+1

1

1
1

1

1

1

10

G+idfs; khj;jpuk; FLk;gq;fspd; vz;zpf;if

			                   =115-(60+9+11)
		                            =35
kPd;fis khj;jpuk; nfhz;l FLk;gq;fspd; vz;zpf;if

kPd;fis khj;jpuk; nfhz;Ls;s FLk;gkhf 

,Ug;gjw;fhd epfo;jfT  

eha;fis nfhz;l FLk;gq;fspy; vz;zpf;if              

                                                                  =24+17+19
                                                           =60
eha;fisf; nfhz;buhj kPd;fisf; nfhz;l 

FLk;gq;fspd;  vz;zpf;if 

					     =30-21
					     =09

4>19>11> 115 rupahf ,uz;il ,dq;fz;L Fwpj;jy; 

20> 17 I fhzy; 

rupahf xU 

gpuNjrj;ij 

Fwpf;f......1

(iii)

(ii)

(i)

(iv)

19
04

17

03

06

20

35

29 6
3

= × =

6
115

= 10

G+idfisf; 

nfhz;l FLk;gq;fs;

kPd;fisf; 

nfhz;l FLk;gq;fs;

eha;fisf; 

nfhz;l FLk;gq;fs;

115

11

04

03

03



,yq;ifg; guPl;irj; jpizf;fsk;
me;juq;fkhdJ

3132 - fzpjk;  ( Gs;sptoq;Fk; jpl;lk;  )- f.ngh.j(rhjuzju)g; guPl;ir -2019-,Wjpj; jpUj;jq;fs; cs;slf;fg;glTs;sd.

10

tpdh ,yf;fk; Gs;sp toq;Fk; gbKiwfs; Gs;spfs; NtW Fwpg;Gf;fs;

12

1

1

1

1

1

1+1

1

1
1

(i) miuf;Nfhs  ghj;jpuj;jpYs;s  ePupd; fdtsT 

mupa tbt ghj;jpuj;jpYs;s 

ePupd; fdtsT        

31 4
2 3

rπ × 
 

1 4 6 10
2

= × × ×

31 4 1 4 6 10
2 3 2

rπ× × = × × ×

3

3

3

1 4 6 10 2 3
2 4
180

180

r

r

r

π

π

π

× × × ×
= ×

×

=

=

[ ]1lg lg180 lg
3

r π= −

[ ]

[ ]

1 2.2553 0.4969
3
1 1.7584
3
0.5861

= −

=

=

lg 0.5861r Anti=

3.855
3.9cm

=
=

}
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